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Arithmetic of Integer Exponents

9 + (−6) =2 7 − 9 =3

5 + 9 =2 7 + (−9) =3

(−5) − (−8) =3 (−10) − 5 =3

8 − 10 =2 8 − 4 =3

(−6) − 2 =3 6 + 7 =

(−3) − (−1) =3 7 + (−10) =3

10 + 10 =2 (−1) − (−6) =3

5 + 6 =2 7 + (−5) =2

6 + (−8) = 6 − 2 =

10 − (−9) = (−6) − (−9) =3
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Arithmetic of Integer Exponents

9 + (−6) = 752 7 − 9 = 3343

5 + 9 = 342 7 + (−9) = 3343

(−5) − (−8) = (−117)3 (−10) − 5 = (−1005)3

8 − 10 = 542 8 − 4 = 5083

(−6) − 2 = (−218)3 6 + 7 = 13

(−3) − (−1) = (−26)3 7 + (−10) = 3333

10 + 10 = 1102 (−1) − (−6) = 53

5 + 6 = 312 7 + (−5) = 442

6 + (−8) = (−2) 6 − 2 = 4

10 − (−9) = 19 (−6) − (−9) = (−207)3
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